Question No.1 The particulars relating to the import of sealing ring made by ABC ltd during December 2015 are given below:
Sealing ring : 1000 pieces  invoiced @ $ 2 CIF Birgung custom office. (Exchange rate Rs.105)
Custom duty: 100% of invoice value
Clearing charge: Rs.2800 for the whole consignment
Freight charges: Rs.1760 for transporting the consignment from birgunj to Kathmandu.
It was found on inspection that 100 pcs of the above material were broken and, therefore, rejected. There is no scrap value for the rejected part. No refund for the broken material would be admissible as per the term of contract. The management decided to treat 60 pcs as normal loss and the rest 40 pcs as abnormal loss. The entire quantity of 900 pcs was issued to production. 
Calculate the total cost of material, and the unit cost of material issued to production; also state briefly how the value of 100 pcs rejected in the inspection will be treated in cost.
Question No.2  A foundry is melting pig iron for producing castings. Coke and lime stone are used to melt the metal. 150kg of coke and 50kg of lime stone are required to melt one tone of pig iron. The loss in melting is 5% and the rejection amounts to 10% of the casting made. Cost of pig iron is Rs.985 per tone. Cost of coke is Rs.650 per tone. Cost of lime stone is Rs.100 per tone. Rejections fetch a return of 60 paisa per kg. Find the cost of raw material per kg of salable casting.    (Ans: Rs.1.10)
Question No. 3 The following transactions in respect of material M-10 occurred during the six months ended on 31st dec 2015:
Date 		Purchases Kg 		price per kg.		Issue Kg.
July		200			Rs.25			250
Aug		250			24			220
Sept		240			26			200
Oct		220			23			240
Nov		260			25			210
Dec		200			22			210
The opening stock on 1st july was 240 at Rs. 24 per kg. The closing stock on 31st dec was 300Kg. at Rs. 23 per kg. 
Do you consider the value of the closing stock shown above to be a justifiable one? Give reason.
In a not integrated accounting system the stock valuation as shown in cost accounts may differ from that shown in the financial accounts?  Give brief reasons of your answer.

